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National 4 E & F
Checkpoint 1.1 Exercise 1


1.	Simplify:

(a)  2x + 3y – x + 4y		(b)  10 - 4f – 2 + 6f		(c)  2w + 3t – 4w – 5t	

2.	Factorise:

(a)  2a + 6b		(b)  9p – 12y		(c)    4d2 – d		(d)  5ef + 20f
	
3.	Multiply out the brackets:
	
(a)   9(x + y) 		(b)  a(a – 2b)  		(c)  4d(2 – 3a)		(d)  5(2a + 6f)

4.	Multiply out the brackets and simplify:
	
(b)   4(2x - 3y) + 2x		(b)  7(3t – 10) + 20		(c)  20 + 4(2p – 8)					
5.	Find the value of      5a  3b   when  a = 2 and b = 3. 
	

6.	Using the formula 	, calculate m when E = 8, g = 10 and h = 40.
7.	Carla is laying a path in a nursery school using a mixture of alphabet and coloured tiles as shown below:
	[image: Screen Clipping]     [image: Screen Clipping][image: Screen Clipping]
(a) Copy and complete the table:

	No of alphabet tiles (a)
	1
	2
	3
	4
	5
	
	12

	No of coloured tiles (c)
	
	
	
	
	
	
	



(b) Find a formula to work out c, the number of coloured tiles
(c) Carla uses 86 coloured tiles to make a path, use the formula to work out how many alphabet tiles are used.
slope
4cm
7cm

8.	For the slope of ta slide in a playground 
to be safe it must be less than 1.5
	Is the slide shown safe?          
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